REPORT OF REQUEST FOR QUOTES FOR INFRASTRUCTURE REPAIR WORK AT MULTIPLE LOCATIONS					
PROJECT LOCATIONS - MACEDONIA ROAD, PEMBROOKE WAY, PINEGROVE DRIVE AND LEWIS- ATLANTA ROAD ROUNDABOUT					
NAME OF CONTTRACTOR	BID AMOUNT	REMARKS			
ARDITO CONSTRUCTION	\$ 22,546.00				
INTERNATIONAL BUSINESS SOLUTIONS	\$ 15,960.00	RECOMMENDED FOR THE AWARD OF THIS WORK			
TUCKER GRADING		NO RESPONSE			
EAST COAST GRADING		NO RESPONSE			
KENNEDY AND TILLMANCOMPNY		NO RESPONSE			
and the second of the second o		ez e ser en			

ARDITO CONSTRUCTION COMPANY INC.

Ardito Construction Company Inc.

1290 Austell Road, SE Marietta, GA 30008

chuck.ardito@arditoconstruction.com

Estimate

Date	Estimate #		
11/8/2018	541		

Name / Address					
City of Powder Springs 3006 Springs Industrial Dr. Powder Springs, Ga. 30127	Infrastructure Repair Work				
		1	,,, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	······································	

Description	Qty		Unit	Unit Price	Total
NOTE: 1. Removal of Existing Sidewalk 2. Concrete "Short Load" Fee 3. Grading Complete - Sidewalk 4 inches Thick - GDOT 1034D Double Wing Catch Basin Top PART II Total:		120 1	S.F. EA	7.95 2,800.00	954.00 2,800.00 5,373.50
PART III Repair Part of Broken Concrete Median with Dowels Lewis Road/ Atlanta Street Roundabout - Median Repair (Approximately 16 S.F.) PART III Total:		1	L.S.	1,250.00	1,250.00 1,250.00
Please Call Me If You Have Any Questions Or Concerns:(678) 618-	0240	Est	imate	Total:	\$22,546.05

\$22,546.05

ARDITO CONSTRUCTION COMPANY INC. Construction Construction Company INC. Construction Constructio

Ardito Construction Company Inc.

1290 Austell Road, SE Marietta, GA 30008

chuck.ardito@arditoconstruction.com

Estimate

Date	Estimate #
11/8/2018	541

Name / Address	Project
City of Powder Springs 3006 Springs Industrial Dr. Powder Springs, Ga. 30127	Infrastructure Repair Work

Description	Qty	Unit	Unit Price	Total
Infrastructure Repair Work				
PART I				
Remove and Replace Existing Sidewalk Near Address Shown				
3771 Macedonia Road				
3711 Macedonia Road				
3681 Macedonia Road				
3691 Macedonia Road				
Pine Grove Drive				
4440 Pembrooke Way				
- Asphalt/ Concrete Saw Cut		L.F.	2.00	120.00
- Haul Off (Concrete)		C.Y.	25.00	325.00
- Traffic Control		EA	250.00	3,000.00
- Contractor's Hourly Rate	18	Hrs.	250.00	4,500.00
NOTE:				
1. Removal of Existing Sidewalk				
2. Concrete "Short Load" Fee				
3. Grading Complete				
- Sidewalk 4 inches Thick	689	S.F.	7.95	5,477.55
- Clearing and Grubbing/ Tree & Stump Removal at 3711	1	EA	2,500.00	2,500.00
Macedonia Road				
PART I Total:				15,922.55
PART II		:		
Remove and Replace Reinforced Concrete Catch Basin Top and				
Sidewalk				
3900 Macedonia Road (Tapp Middle School)				
- Asphalt/ Concrete Saw Cut	16	L.F.	2.00	32.00
- Haul Off (Concrete)	3.5	C.Y.	25.00	87.50
- Traffic Control	2	EA	250.00	500.00
- Contractor's Hourly Rate	4	Hrs.	250.00	1,000.00
Please Call Me If You Have Any Questions Or Concerns:(678) 618-02	40 F et	timate	Total:	

IBSG

International Business Solutions (IBS) Groups LLC

1145 Montclair Way Snellville, GA 30078

November 7th, 2018

RE: Storm water infrastructure repair works

Dear Mr. Michael Asiedu,

As per your email of October 18th, 2018, our lump sum Quotation for the entire project is \$15,960. The quote is based on the following work order stipulated in the Request for Quotation:

PART I

Remove and replace existing sidewalk near address as shown:

3771 Macedonia Road

• (+/-23 feet x width of existing sidewalk)

3711 Macedonia Road

- (+/-28 feet x width of existing sidewalk)
- (+/-10 feet x width of existing sidewalk)

3681 Macedonia Road

• (+/-15 feet x width of existing sidewalk)

3691 Macedonia Road

• (+/-25 feet x width of existing sidewalk)

Pinegrove Drive (marked)

• (+/-35 feet x width of existing sidewalk)

4440 Pembrooke Way

(+/-25 feet x width of existing sidewalk)

PART II

Remove and replace reinforced concrete catch basin top and sidewalk:

3900 Macedonia Road (TAPP Middle School)

- +/-30 feet x width of existing sidewalk
- Double wing catch basin top
- Allow for extra grading and grassing (40 feet x 10 feet)

PART III

Repair part of broken concrete median with dowels Lewis Road/Atlanta Street roundabout

IBSG

International Business Solutions (IBS) Groups LLC

The quote includes all traffic controls, BMPs and restoration activities. It is also based on the work being done to the standards listed in the RFQ.

Please let me know of any additional information you may need. You may email me or contact me at 404-642-1252.

Sincerely

Robert A, Baffour, PhD

Brunh

President/CEO